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‘Lossless Compression’ is… 
 
 
 

“Prepares the storage device for 
data storage by creating sectors 
and tracks on which data can be 
stored”…describes which type of 
utility software? 
 
 
 

What is an ISP? 
 
 
 
 
 

What data type would be most 
appropriate in the context of a 
variable storing the title of a song? 
 
 
 
 

Which type of translator causes a 
program to run more slowly? 
 
 

Items held in arrays are indexed. 
What is meant by this statement? 
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‘Lossless Compression’ is… 
 
 
 
 

A form of file compression that 
reduces the file size by temporarily 

removing some of it is data. This 
data is is reconstructed when the 

file is uncompressed. 

“Prepares the storage device for 
data storage by creating sectors 
and tracks on which data can be 
stored”…describes which type of 
utility software? 

 
 
 

Formatting Software 

What is an ISP? 
 
 
 
 
 

 The company that provides a 
connection to the internet. 

 
 

What data type would be most 
appropriate in the context of a 
variable storing the title of a song? 

 
 
 

String 

Which type of translator causes a 
program to run more slowly? 

 
 

Interpreter 
 

Remember, the interpreter converts 
source code line by line which is a slow 
process. The interpreter therefore causes 
programs to run more slowly. A compiler 

however, takes longer to convert the 
code, but then the program will run much 

faster. 

Items held in arrays are indexed. 
What is meant by this statement? 

 
 
 
 

 Each item in the array is given 
a position number (usually 

starting at 0). 

 


